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Bayesian inference is a method of statistical inference in which Bayes' theorem is used to update the
Jprobahility for a hypothesis as more evidence or information becomes available[wiki]. a



https://en.wikipedia.org/wiki/Statistical_inference
https://en.wikipedia.org/wiki/Bayes'_theorem
https://en.wikipedia.org/wiki/Evidence
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pattern recognition using neural networks theory and algorithms for
engineers and scientists, by Carl G. Looney

p(C %)= PCRIXIC) S

Oabls sPSsL



W ey 0 a9 (o0l8io X 3Is8) Jlais]
b JleiC, (saiw.
Class likelihood

P(C; |x)= tla2 P(Ce 1)

Silg0 OATIC, sailws oo ol )

Oabls sPSsL



Losses and Risks m—

RO INPAITWE] M‘\'(,.rx (> @010 3)lg0 (;3)) )y ©
o3l Ly’ C; alws VAT plgic @ «a; guisS» —
3w
L) s i s QBB Gy plive olgic @y Ay —
Sy dles k aws ¢l @ (539)9 a5
Ry Oy @ expected risk (D)o ) )y @
130,60 Qwlas

R(e/x) i AP (Cy[x)

k=1

choose a; if R(a;/x)=minR(«/x)

oubls sP3sL



0/1 Loss (w)p =

Olla 3P Jslns Guy) O3PS OIS (Sl
a5 VAl )

Oabls sPSsL



aLI01 VAT SN s ~—

saie aws sLIBl QAT des5 Ay )s
(BN s Quwl \¥gy a5 5683 @ o)l (D0
Alla 31 ) P2 O)0 H5308 Elwaw buwys
«p g osb (B3 «S5gae» Plgic @ aig.ad
301 (,.
Oy, 3(reject ) s) o306 CAIH@T (53388 «JNS» —

choose C, if R(a;/x)<R(e[x) Vk=i and
R(e;/x)<R(ey../%)

reject  R(ey./x)<R(a/x) i=12,...k

oubls sP3sL



(...Ls)s)) 03B OAT) (VL (SAs)d =

130,60 LAI)ET ) C)g0 @ Gy @6 JOs plgic ay o

0 ifi=k
A, =<4 Ifi=K+1, 0<A<1
1 otherwise

R(a,,, %) Z/IPC|x

R(er, | x :ZP C, |x)=1-P(C.|x)

ki

choose C, if P(C,|x)>P(C,|x) Vk=iandP(C |x)>1-A
reject otherwise

oubls sP3sL



jlwlss @ilg3

choose C; if g,(x)=max g, (x) 0,(x),i=1,.. K
- C, /
= R(ai |X) |
gi(x):< P(Ci |X) 2
kp(xlcl)P(CI)
reject
K decision regions R,,...,Rx | ,QCZ A <
A A\
ANV
R, = {X 1g,(x)= maxkgk(x)} ! ! ! —
C, ifg(x)>0
choose: * 9(x) |
C, otherwise N

oubls sP3sL



Equal losses

Unequal losses &

With reject

N i 10
OMLs (30

e
b3

X




Parametric Estimation LS)SJ)\)L! 3)9‘\')__) -

W3 ) b «alygy @a0103 AT 3)00 ) Uu.u Jaod ) e
Oddls g8ye O (5309 soxaline Jlaial 38)3
A0 Oaay Aws £089 Jlalal g alws

oold 23)93 )l daosly @3)g3 a5 goyd Bl @ angs L —

«sypohb slagngy )y lagvg) o3 B3560 SO
Sl 0

- X ={xt};., where xt~ p (x)

) 10T @
X ib)gal slassls (59) i) 6 slayielb paads —

A8)5 Wi s p (x |[0) Oy @ Jss Qo aos)s )
Iy 22103 3)06 )3 Olelbl Elod () «asiumy so)la1» 6) Squ¢,0

(3)1s 3395
Sufficient statistic

oubls sP3sL



Likelihood Function (RLadCuw)y @6 =-—

dye Sloysl)b ) @0 «aladcuw)s @by e

L) LS)LOT
sy O ey shb ) acgens Q (IledCw)s -
w X shhd) Jlaial b cwwplp (X)) pas spsles

byb @ o1 6 Iw)ys Jladsl) leyisl)b acgass )i
(X

, " 1(0|X)=p (X]0)
) 00,0 051 a3 1y 0 g Cwwl G X -

)y Ll NS «s)lal bliTwh )s @36 o)
N(zn|p, 02)

Statistical inference




m -
MLE A ¢ILadcuw)s )9l =—
Maximum Likelihood Estimation Make sampling xt from p (xt|0) as likely as possible

L JBtws slopais» X ={xt} doaigsd a5 (,3)00 ) ©
300 «(i.i.d.)plusy @3)o3

Independent and identically distributed

o [(8]1X)=p(X|0) =TI p (x|6)
W ealws B pIBL () )s Ay Gladcuw)s 3)gTy )y
o3l PSless p @ X Jlad Jlaial a5 slaigs
S0 @Y (Iladcuw)s
e jl (ledcumys sl @ Slwlas (Ssbw iy
30,0 d3aTw) ol

L(6]X) = log 1 (6]X) = 3, log p (x!|6)

‘:.j?i:
= = " E
0" = argmax, L(6|X) E 4

oubls sP3sL




Galhy (ILadCum)s 3)g1y =

P AN S il ~
S A N “v{ N
T rs o L ~
S s - N ™ ~
et i ”:.- il - e v
! 2 3 4 . 6 7
p(T10) Likelihood
1.2 % 107
08x 1o’ 2
L {'}
04x 107 4
i i i 4 ._ﬂ
i 2 3 4 5 6 7
I )
y
20

-4
-5}
-850

-fi}

Oabls sPSsL

:
3
3

Pattern Classification, Chapter 3




Bernoulli /catagorical (generalized Bernoulli) Density
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Gaussian (Normal) Distribution
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e M samples X={x*;, r}, i=1,...,M
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Cross validation -
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Regularization

Penalize complex models

’=error on data + A model complexity
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Coefficients increase in

magnitude as order increaseg:

1: [-0.0769, 0.0016]

2:[0.1682, -0.6657, 0.0080]
3:[0.4238, -2.5778, 3.4675, -

0.0002
4:[-0.1093, 1.4356,
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